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2009HE = 2 3 +BNLALS LY
200 Mlolael
2 220 QAR KR4
&1 202 2012 (cHol &2
g2 0] & o p[E-L HIRE2
ES A 67,441,676 61,377,403 6,064,273
200 Mlel==¢ 19,753,519 11,404,961 8,348,558
220 LA H A2 = 18,663,519 10,314,961 8,348,558
222 d0= 5,812,219 3,109,875 2,702,344
222-01 =MA L= 5,812,219 3,109,875 2,702,344
< g Fgzeldt > 5,812,219 3,109,875 2,702,344
O=NHLH= 28 5,812,219,520& 5,812,219 3,109,875 2,702,344
223 0122 297,656 0 297,656
223-01 2NEEDARE O 297,656 0 297,656
< gZzeldt > 297,656 0 297,656
O NEXSASENH 297,656, 130& * 14! 297,656 0 297,656
224 8P = 12,549,644 7,201,086 5,348,558
224-03 JIEt2I HE S = 12,549,644 7,201,086 5,348,558
< gZzzeldt > 12,549,644 7,201,086 5,348,558
OJIEt2I A He= 9,728,644 4,380,086 5,348,558
PEAINZAESY (B4, Bh, ARDHEE S)
2E 2,345,698,000& 2,345,698 2,112,998 232,700
>EEIIZALER (BToHS, 2ARDEH4E, SH2BH S
) 23 7,382,946,000& 7,382,946 2,267,088 5,115,858
500 X3 47,688,157 49,972,442 N2,284,285
510 2 NEXZS 47,688, 157 49,972,442 AN2,284,285
511 S NEX3S 47,688, 157 49,972,442 AN2,284,285
511-01 2 LEL= 27,137,000 25,875,438 1,261,562
< g Zdzeldt > 27,137,000 25,875,438 1,261,562
OZII=ANEE 27,137,000 25,875,438 1,261,562
>R AHAALLK (2, BFDE, S)(MBAR)
23 11,724,000,000& 11,724,000 11,417,000 307,000
Dot=2HEHH(2Y, ¥F, £Y) Z2 & 3,494,000,000& 3,494,000 3,867,438 A373,438
>EEHEA LN (AFAR) A 1,954,000,000% 1,954,000 1,114,000 840,000
DEME GHETAIE HEAY(MEMNE)
Z2 & 1,354,000,000& 1,354,000 866,000 488,000
511-03 JI= 20,551,157 24,097,004 A 3,545,847
< gZzzeldt > 20,551,157 24,097,004 A 3,545,847
OLAA LS HH S 2 2% 33,250,008 33,250 35,000 A1,750
O8I EALER 10,634,000 14,193,097| 3,559,097
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g2 0] & o p[E-L HIRE2
>EREAAHANLLR (2, FFDE, 29)
23 6,336,000,000& 6,336,000 9,477,000 23,141,000
>ARDSEE AR (2ERIS 9HA) FEH 1,360,000,0002 1,360,000 1,516,000 156,000
DotsZHEH(2Y, F, &) Z2& 1,291,000,000& 1,291,000 1,709,097 A418,097
DEmXMelAlEg 2 & 372,000,000& 372,000 237,000 135,000
>EMHEOIESR)B2HAAL  ZH1,026,000,0002 1,026,000 1,039,000 13,000
DEAF ot AE SHEAY 2 & 249,000,000& 249,000 215,000 34,000

sHd=l ShEE Ml = (AR AIE)  ZE 33,000,000 33,000 18,000 15,000




